S G3PAAF ABCD oA LABD = 41°, A

/ACD = 68° A W), za+ b ©] 37 (F, 'v
/DAC = za, /DBC = ¢b) 5
e
L1 N,

C

@6 @me ® 80° B

@ 109° ® 100°

~&B

/BAC = /ACD = 68° (A7}

(ACB = /DAC = za(97Z})

/ADB = /DBC = /b(%1Z})

w2h4 AABD 9 Al Zhe] 32 180° | B sa 4 68° 4 41° +
/b = 180°

. la+ /b= 180°-109° = 71°




2. A, B, C, D, E9 590l it 3 S ol gt 22 Al$E= AL9

=9
@D 15 714 @ 30 714 ® 36 714
@®)60 714 ® 120 7}A]

5x4x3 =060 (7H)




3. o& 18 A /BAC = /ADC = 90° ,AC = 12cm, CD = 8cm ¥
o, BD 9] Zo|& 45}4?

@ 1l4cm @ 13cm ® 12cm @ 12cm @mcm

AC2=BC-CD
144 = (x+ 8) X 8
8x =80, x = 10(cm)
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